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Exercise series N◦1

Exercise 1 : Consider the following assertions:

A1 : ∃x ∈ R, ∀y ∈ R: x + y > 0.

A2 : ∀x ∈ R, ∃y ∈ R: x + y > 0.

A3 : ∀x ∈ R, ∀y ∈ R: x + y > 0.

A4 : ∃x ∈ R, ∀y ∈ R: y2 > x.

1. Are assertions A1, A2, A3 and A4 true or false?

2. Give their negation.

Exercise 2 :

• If a and b are two positive or zero real numbers, show that:

√
a +
√
b ≤ 2

√
a + b.

• Prove by induction the following equalities:

n∑
k=1

k =
n(n + 1)

2
and

n−1∑
k=0

2k = 2n − 1, with n ∈ N∗

• Show that
√

2 is not a rational number.

Exercise 3 Let x and y ∈ R.

1. Show that the following relationships are always true:

(a) If |x| < y then − y < x < y

(b) |x + y| ≤ |x|+ |y|.
(c) ||x| − |y|| ≤ |x− y|.

2. Solve the following inequalities:

(a) |x− 2| > 5.

(b) |x + 2| > |x|.
(c) |2x− 1| < |x− 1|.

Exercise 4 Determine (if they exist): the all upper and lower bounds, supremum, infimum, maximum, and
minimum, of the following sets:

E1 =

{
1,

1

3
,
1

5
, ...,

1

2n + 1
, ...; n ∈ N

}
, E2 =]0, 5], E3 =

{
4− 1

n
;n ∈ N∗

}
,

E4 =

{
1

2
+

n

2n + 1
,

1

2
− n

2n + 1
; n ∈ N∗

}
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Exercise 5 Show that the following relationships are true.

• x− 1 < E(x) ≤ x,

• E(x) + E(y) ≤ E(x + y),

• E(x)− E(y) ≥ E(x− y),

• E
(
E(nx)

n

)
= E(x),

with x, y ∈ R, n ∈ N∗ and E(.) is the integral part function.
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Solution

Solution of the Exercise 1 :

A1 : is false, because we can find an y in R such that for any x in R we have x + y less or equal to zero
(x + y ≤ 0.)
For example, if we take y = 0, then for all x negative (x ≤ 0) we have x + y = x ≤ 0
The negation: ∀x ∈ R, ∃y ∈ R: x + y ≤ 0.

A2 : is true, the fact that for any x we can find an y ∈ R for which the inequality x + y > 0 is verified.
For exemple, if we take y = −x + 1 then x + y = 1 > 0.
The negation: ∃x ∈ R, ∀y ∈ R : x + y ≤ 0.

A3 : is false, because if we choose, for example, y ≤ 0 and x ≤ 0 then x + y < 0.
The negation: ∃x ∈ R, ∃y ∈ R : x + y ≤ 0.

A4 : is true, and it is the fact that for all y ∈ R, it is enough to take an x in the interval ]−∞, y2[ for the
inequality y2 > x to be verified.
The negation: ∀x ∈ R, ∃y ∈ R: y2 ≤ x.

Solution of the Exercise 2 :

• For two positive or zero real numbers a and b, we have:{
a ≤ a + b
b ≤ a + b

=⇒
{ √

a ≤
√
a + b.....(∗)√

b ≤
√
a + b.....(∗∗) ( the fact that the root function is an increasing function)

by adding the two sides of the inequalities (*) and (**), we will have:

√
a +
√
b ≤ 2

√
a + b.

• Recall that the proof by induction is based on the following three steps:

Step 1: Verify that the desired result holds for n = n0

Step 2: Assume that the desired result holds for n.

Step 3: Use the assumption from step 2 to show that the result holds for (n + 1).

n∑
k=1

k =
n(n + 1)

2
, with n ∈ N∗ (1)

n−1∑
k=0

2k = 2n − 1, with n ∈ N∗ (2)

for n = 1: 
n∑

k=1

k =
1∑

k=1

k = 1

n(n+1)
2 = 1(1+1)

2 = 2
2 = 1

(3)
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for n: We assume that the following equality is true for n.

n∑
k=1

k =
n(n + 1)

2
(4)

for n + 1: On the one hand, using the assumption (4), we have:

n+1∑
k=1

k =
n∑

k=1

k + (n + 1) =
n(n + 1)

2
+ (n + 1) =

(n + 1)(n + 2)

2

On the other hand we have:

n+1∑
k=1

k =
(n + 1)((n + 1) + 1)

2
=

(n + 1)(n + 2)

2

Consequently, the equality (1) holds for n + 1. From the above three steps we conclude that (1)
holds for all n ∈ N∗.

for n = 1: 
n−1∑
k=0

2k =
0∑

k=0

2k = 20 = 1

2n − 1 = 21 − 1 = 21 − 1 = 1

(5)

So the equality holds for n = 1.

for n: We assume that the following equality is true for n.

n−1∑
k=0

2k = 2n − 1 (6)

for n + 1: On the one hand, using the assumption (6), we have:

n+1−1∑
k=0

2k =
n∑

k=0

2k =
n−1∑
k=1

2k + 2n = 2n − 1 + 2n = 2× 2n − 1 = 2n+1 − 1

On the other hand we have:
n∑

k=0

2k = 2n+1 − 1

Consequently, the equality (2) holdsF for n+ 1. From the above three steps we conclude that (2)
holds for all n ∈ N∗.

• Proof By Contradiction that
√

2 is irrational
Recall that for n ∈ N, we have:

n is an odd natural number ⇔ n2 is an odd natural number.

n is an even natural number ⇔ n2 is an even natural number.

Note: The demonstration of the two equivalences above is an additional exercise to be
left for the student. Assume that

√
2 is rational.

Then, let
√

2 = p
q , where p ∈ Z and q ∈ Z∗, and p and q are relatively prime i.e gcd(p, q) = 1.

√
2 = p

q ⇒ 2 = p2

q2
⇒ p2 = 2q2 ⇒ p2 is even ⇒ p is even, say p = 2m

⇒ 4m2 = 2q2 ⇒ 2m = q2 ⇒ q is even.

Thus, both p and q are even and have 2 as a common factor. But we assumed that p and q are
relatively prime. This is a contradiction. Thus,

√
2 cannot be written as p

q for p ∈ Z and q ∈ Z∗ Thus√
2 is irrational.
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Solution of the Exercise 3 Let x and y ∈ R.

1. From the definition of the absolute value we have:{
x < y, if x ≥ 0;
−x < y, if x < 0.

=⇒
{

x < y, if x ≥ 0;
x > −y, if x < 0.

=⇒ −y < x < y. (7)

2. We have{
−|x| ≤ x ≤ |x|
−|y| ≤ y ≤ |y| =⇒ −|x| − |y| ≤ x + y ≤ |x|+ |y| =⇒ − (|x|+ |y|) ≤ x + y ≤ (|x|+ |y|) (8)

As |x|+ |y| ≥ 0, then from (7) and (8) we can conclude that :

|x + y| ≤ |x|+ |y|. (9)

3. ||x| − |y|| ≤ |x− y|?
We have{

|x| ≤ |(x− y) + y|
|y| ≤ |(y − x) + x| using the inequality (9)⇒

{
|x| ≤ |(x− y) + y| ≤ |(x− y)|+ |y|
|y| ≤ |(y − x) + x| ≤ |(y − x)|+ |x|

⇒
{
|x| ≤ |(x− y)|+ |y|
|y| ≤ |(y − x)|+ |x| ⇒

{
|x| ≤ |(x− y)|+ |y|
|y| ≤ |(y − x)|+ |x| ⇒

{
|x| − |y| ≤ |x− y|
|y| − |x| ≤ |x− y| ⇒

{
|x| − |y| ≤ |x− y|
|x| − |y| ≥ −|x− y|

Finally,
−|x− y| ≤ |x| − |y| ≤ |x− y|.

Thus, from the result proven at the beginning of the exercise, we conclude that

||x| − |y|| ≤ |x− y|.

Resolution of inequalities:

1. |x − 2| > 5. we have the inequality |x − 2| > 5, then using the absolute value definition, we can be
rewritten the inequality as follows:{

(x− 2) > 5, if x− 2 ≥ 0;
−(x− 2) > 5, if x− 2 < 0.

⇒
{

(x− 2) > 5, if x ≥ 2;
−(x− 2) > 5, if x < 2.

⇒
{

x > 7, if x ≥ 2;
x < −3, if x < 2.

(10)

Thus, the solutions of the inequality |x− 2| > 5 are:

x ∈]−∞,−3[∪]7,+∞[.

2. |x + 2| > |x|.
x − 2 0

|x| −x −x x

|x + 2| −x− 2 x + 2 x + 2

A B C

We notice that three situations are possible:

Case A:
for x ∈]−∞,−2[, − x− 2 > −x⇒ x + 2 < x⇒ 2 < 0

Thus the set of solution in this case is empty i.e. EA = {} = ∅
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Case B:
for x ∈ [−2, 0], x + 2 > −x⇒ x > −1

Thus, the set of solution in this case x ∈ [−2, 0] and x > −1 i.e. EB =]− 1, 0]

Case C:

for x ∈]0,+∞[, x + 2 > x⇒ 2 > 0. This latest inequality is always true, x ∈ R

Thus, the set of solution in this case x ∈]0,+∞[ and x ∈ R i.e. EC =]0,+∞[

From the three cases above, we conclude that the set of solutions to the inequality |x + 2| > |x| is:

E = EA ∪ EB ∪ EC = ∅ ∪]− 1, 0]∪]0,+∞[=]− 1,+∞[.

3. |2x− 1| < |x− 1|. Note that:

x 1/2 1

|2x− 1| −2x + 1 2x− 1 2x− 1

|x− 1| −x + 1 −x + 1 x− 1

A B C

With the same reasoning as in Example 2, we can show the following:

EA =

]
0,

1

2

[
, EB =

[
1

2
,
2

3

[
, and EC = ∅

⇒ E =

]
0,

2

3

[
.

Solution of the Exercise 4

1. max, min, sup, inf, lb, ub of E1 we have

n ∈ N⇔ 0 ≤ n <∞⇔ 1 ≤ n + 1 <∞⇔ 0 <
1

n + 1
≤ 1⇔ E1 =]0, 1]. (11)

From (11), we conclude that

lb: lb =]−∞; 0].

inf: inf = max(]−∞; 0]) = 0.

min: the minimum of E1 does not exist, because E1 is an open interval on the left side.

ub: ub = [1; +∞[

sup: sup = min([1; +∞[) = 1.

min: max=1 (because 1 ∈ E1).

2. max, min, sup, inf, lb, ub of E2

lb: lb =]−∞; 0].

inf: inf = max(]−∞; 0]) = 0.

min: the minimum of E2 does not exist, because E2 is an open interval on the left side.

ub: ub = [5; +∞[

sup: sup = min([5; +∞[) = 5.

min: max=5 (because 5 ∈ E2).
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3. max, min, sup, inf, lb, ub of E3

n ∈ N∗ ⇔ 1 ≤ n <∞⇔ 0 <
1

n
≤ 1⇔ −1 ≤ −1

n
< 0⇔ 3 ≤ 4− 1

n
< 4⇔ E1 = [3, 4]. (12)

From (12), we conclude that

lb: lb =]−∞; 3].

inf: inf = max(]−∞; 3]) = 3.

min: min=3;

ub: ub = [4; +∞[

sup: sup = min([4; +∞[) = 4.

min: the maximum of E3 does not exist, because E3 is an open interval on the right side.

4. max, min, sup, inf, lb, ub of E3 Let’s define the following subsets:

un =
1

2
+

n

2n + 1
, n ∈ N∗

vn =
1

2
− n

2n + 1
; n ∈ N∗

It is easy to show that un is an increasing sequence while vn is a decreasing sequence. Indeed,

un+1 − un =

(
1

2
+

n + 1

2n + 3

)
−
(

1

2
+

n

2n + 1

)
=

(2n2 + n + 2n + 1)− (2n2 + 3n)

(2n + 3)(2n + 1)

=
1

(2n + 3)(2n + 1) ≥ 0
> 0

⇔ un is an increasing sequence.

vn+1 − vn =

(
1

2
− n + 1

2n + 3

)
−
(

1

2
− n

2n + 1

)
=
−(2n2 + n + 2n + 1) + (2n2 + 3n)

(2n + 3)(2n + 1)

=
−1

(2n + 3)(2n + 1)
< 0

⇔ vn is a decreasing sequence.

so, {
u1 ≤ un < lim

n→∞
un,

lim
n→+∞

vn < vn ≤ v1,

{
5
6 ≤ un < 1,
0 < vn ≤ 1

6 ,
(13)

At this level, to answer the main question of the exercise we can proceed in two ways:
First way:

lb: we have lbu =]−∞; 5
6 ] and lbv =]−∞; 0] ⇒ lbE4 = lbu ∩ lbu =]−∞; 0].

inf: we have infu = 5
6 ] and infv = 0 ⇒ infE4 = min(infu, infv) = 0.

min: we have minu = 5
6 ] and minv does not exist ⇒ lbE4 does not exist.;

ub: we have ubu = [1; +∞[ and ubv = [16 ; +∞[ ⇒ lbE4 = ubu ∩ ubu = [1; +∞[.

sup: we have supu = 1 and supv = 1
6 ⇒ supE4 = max(supu, supv) = 1.
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0                                   1/6                                      5/6                                    1

un                                                                                            vn

E4

min: we have maxu does not exist and maxv = 1
6 ⇒ lbE4 does not exist.;

Second way: From (13), we note that

un ∈
[

5

6
; 1

[
and vn ∈

]
0;

1

6

]
⇒ E5 =

]
0;

1

6

]
∪
[

5

6
; 1

[
,

thus,

lb: lb =]−∞; 0].

inf: inf = max(]−∞; 0]) = 0.

min: minimum does not exist;

ub: ub = [1; +∞[

sup: sup = min([1; +∞[) = 1.

min: the maximum does not exist.

Solution of the Exercise 5

• x− 1 < E(x) ≤ x?
According to the definition of the integer part of a real number, we have

E(x) ≤ x < E(x) + 1 ⇔ 0 ≤ x− E(x) < 1

⇔ 0 ≤ x− E(x) < 1

⇔ −x ≤ −E(x) < −x + 1

⇔ x ≥ E(x) > x− 1.

• E(x) + E(y) ≤ E(x + y)?
Let x and y two real numbers. We have{

x = E(x) + Rx, with Rx ∈ [0, 1[;
y = E(y) + Ry, with Ry ∈ [0, 1[;

On the one hand, as Rx + Ry < 2 then

Rx + Ry =

{
0, if Rx + Ry ∈ [0; 1[;
1, if Rx + Ry ∈ [1; 2[;

On the other hand,

E(x + y) = E(E(x) + Rx + E(y) + Ry)

= E ((E(x) + E(y)) + (Ry + Rx))

= E(x) + E(y) + E(Rx + Ry)
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Consequently, {
E(x + y) = E(x) + E(y), if Rx + Ry ∈ [0; 1[;
E(x + y) = E(x) + E(y) + 1, if Rx + Ry ∈ [1; 2[;

⇒
{

E(x + y) = E(x) + E(y), if Rx + Ry ∈ [0; 1[;
E(x + y) > E(x) + E(y), if Rx + Ry ∈ [1; 2[;

⇒ E(x + y) ≥ E(x) + E(y).

• E(x)− E(y) ≥ E(x− y)?
Let x, y ∈ R.

E(x) = E((x− y) + y) ≥ E(x− y) + E(y)⇒ E(x)− E(y) ≥ E(x− y).

• E
(
E(nx)

n

)
= E(x)?

According to the definition of the integer part of a real number, we have

E(x) ≤ x < E(x) + 1 ⇔ nE(x) ≤ nx < nE(x) + n

⇔ E (nE(x)) ≤ E(nx) < E (nE(x) + n) , (E(.) is an increasing function)

⇔ nE(x) ≤ E(nx) < nE(x) + n (integer part of an integer number)

⇔ E(x) ≤ E(nx)

n
< E(x) + 1 (definition of E(.))

⇔ E

(
E(nx)

n

)
= E(x).
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C
orrigé de l'Exercice n°5

1) En réécrivant autrem
ent le polynôm

e P, à savoir :  
(

)
(

)
(

)
3

2
3

2
22

36
9

12
12

22
36

3
3

4
4

P
z

z
z

i
z

z
z

z
i

z
z

=
−

−
+

+
−

=
−

−
+

+
−

, on s’apperçoit que si 
1 z est une racine 

réelle de P, alors on doit avoir nécessairem
ent 

31
1

22
36

0
z

z
−

−
=

 et 
21

1
3

4
4

0
z

z
+

−
=

. C
herchons donc les racines 

réelles du polynôm
e 

(
)

2
3

4
4

R
z

z
z

=
+

−
 en calculant son discrim

inant : 
(

)
2

2
4

4
3

4
16

48
64

8
Δ

=
−

×
×

−
=

+
=

=

d’où l’existence de deux racines réelles 
4

64
2

2
3

−
−

=
−

×
 et 

4
64

2
2

3
3

−
+

=
×

. Sur ces deux racines, seule –2 est racine du 

polynôm
e 

(
)

3
22

36
S

z
z

z
=

−
−

. A
insi la seule racine réelle de P est 

1
2

z
=

−

2) 
Il 

existe 
donc 

un 
polynôm

e 
(

)
Q

z
 

tel 
que 

(
)

(
)

(
)

(
)

(
)

(
)

(
)

2
2

P
z

z
Q

z
P

z
z

Q
z

=
−

−
⇔

=
+

, 
avec 

deg
deg

1
2

Q
P

=
−

=
, donc de la form

e 
(

)
2

Q
z

az
bz

c
=

+
+

.
Pour trouver Q

, effectuons la division euclidienne du polynôm
e P par 

z-2 (puisque l’égalité ci-dessus entraîne 

(
)

(
)2

P
z

Q
z

z
=

+
, pour tout 

2
z

≠
−

) 

O
n obtient : 

Le polynôm
e Q

 est donc : 

(
)

(
)

(
)

2
9

2
6

3
Q

z
z

i
z

i
=

+
−

−
+

3) O
n calcule le discrim

inant du polynôm
e Q

 : 

(
)

(
)

(
)

2
9

2
4

1
6

3
81

36
4

24
72

5
12

i
i

i
i

i
Δ

=
−

−
×

×
−

+
=

−
−

+
+

+
=

−
−

. 
L’astuce 

est 
de 

rem
arquer 

que 

(
) 2

5
12

2
3

i
i

−
−

=
−

, 
ce 

qui 
perm

et 
de 

calculer 
les 

deux 
racines 

com
plexes 

de 
Q

 : 
L’une 

vaut 

(
)

(
)

9
2

2
3

6
3

2
2

i
i

i
i

−
−

−
−

−
=

=
−

 et l’autre vaut 
(

)
(

)
9

2
2

3
12

4
6

2
2

2
i

i
i

i
−

−
+

−
−

+
=

=
−

+
. L’équation Q

(z)=0 adm
et 

donc une solution im
aginaire pure : 

2
3

z
i

=
−

4) L’autre solution de l’équation Q
(z)=0  ayant été calculée ci-dessus, et par application de la règle du produit nul, 

(
)

(
)

(
)

(
)

0
2

0
2

0   ou   
0

P
z

z
Q

z
z

Q
z

=
⇔

+
=

⇔
+

=
=

 et ainsi 
{

}
2;

3
;

6
2

S
i

i
=

−
−

−
+

5) N
otons A

 le point d’affixe 
1

2
z

=
−

, B
 le point d’affixe 

2
3

z
i

=
−

 et C
 le point d’affixe 

3
6

2
z

i
=

−
+

L’affixe du vecteur A
B
����

 vaut 
2

1
3

2
z

z
i

−
=

−
+

. C
elle du vecteur A

C
����

 vaut 
3

1
6

4
z

z
i

−
=

−
+

Puisque 
(

)
3

1
2

1
2

z
z

z
z

−
=

−
, on en déduit que 

2
A

C
A

B
=

����
����

, c’est à dire que les vecteurs A
B
����

 et A
C
����

 sont colinéaires, 
donc que les points A

,B
 et C

 sont alignés 



Exercice n°6

1) La suite (
)nn

z
∈
�

 est une suite géom
étrique de raison 

1
3

4 i
q

+
=

Form
e exponentielle de 

1
3

4 i
q

+
=

 : 
2

2
1

3
4

1
1

4
4

16
4

2
q

�
�

�
�

=
+

=
=

=
�

�
�

�
�

�
�

�
�

�
, et si on note θ

 un argum
ent de q, à 

2π
 près, on a 

(
)

1
1

4
cos

1
2

2

θ
=

=
 et 

(
)

3
3

4
sin

1
2

2

θ
=

=
 d’où on reconnaît 

[
]

2
3 π

θ
π

=
 et ainsi 

3
12

i
q

e
π

=
. 

(on pouvait aussi directem
ent rem

arquer que 
3

1
1

3
1

1
cos

sin
2

2
2

2
3

3
2

i
i

q
i

e
π

π
π

�
�

�
�

=
+

=
+

=
�

�
�

�
�

�
�

�
�

�
) 

A
insi, pour tout entier n∈

�
3

3
0

1
1

8
8

2
2

n
n

n
n

i
i

n
n

z
z

q
e

e
π

π
�

�
�

�
�

�
=

×
=

=
�

�
�

�
�

�
�

�
�

�
�

�

2) Pour tout entier n∈
�

, puisque 
0

n
z

≠
, 

(
)(

)
(

)(
)

1

1

1
3

1
3

1
3

4
1

3
3

1
3

3
3

4
4

4
4

4
4

1
3

1
3

1
3

1
3

1
3

1
3

4
4

4

n
n

n
n

n
n

i
i

i
z

z
i

i
z

z
i

z
i

i
i

i
i

i
z

+

+

+
+

+
−

−
−

−
+

−
−

−
+

=
=

=
=

×
=

+
+

+
+

+
−

(
)

(
)

2
2

2

3
3

3
3

3
4

3
3

3
4

1
3

i
i

i
i

i

−
+

+
−

−
+

=
=

=
−

3i

En 
calculant 

m
odule 

et 
argum

ent 
de 

ce 
dernier 

com
plexe, 

on 
obtient 

1
1

1
1

3
3

n
n

n
n

n
n

z
z

M
M

i
z

O
M

+
+

+
+

−
=

⇔
=

⇔

1
1

3
n

n
n

M
M

O
M

+
+

=
 

(le 
réel 

k 
dont 

parle 
l ‘énoncé 

est 
3

.). 
D

e 
plus, 

(
) [

]
1

1

arg
arg

3
2

n
n

n

z
z

i
z

π
+

+

�
�

−
=

⇔
�

�
�

�

(
)

[
]

1
1

;
2

2
n

n
n

O
M

M
M

π
π

+
+

=
��������

����������
 donc le triangle 

1
n

n
O

M
M

+
 est rectangle en 

1
n

M
+

3) N
ous avons calculé, dans la question1), que pour tout entier n∈

�
3

1
8

2

n
ni

n
z

e
π

�
�

=
�

�
�

�
. A

insi 
1

8
2

n

n r
�

�
=

�
�

�
�

, et puisque 

1
0

1
2

<
<

, 
1

lim
0

2

n

n→
+∞ �

�
=

�
�

�
�

, donc lim
0

n
n

r
→

+∞
=

, donc le point 
n

M
 a pour position lim

ite le point O
 lorsque n tend vers plus 

l'infini. 
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∈
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d
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s
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sy
m
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w
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resp
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a
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ax
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f
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)
= √
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1
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g
(x
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=

x
2
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+
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.
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F
or

each
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g
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d
eterm

in
e
th
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oin
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of

sy
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etry
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f
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)
=

2x−
1

x
+
1
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g
(x
)
=

x
2−

1

x−
2

3.
S
h
ow

th
at

an
y
fu
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h
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g
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form
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(x
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=

a
x
+

b
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a
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f
sy
m
m
etry.
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+
1
2

x
2−
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√
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√
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√
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+ √
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√
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,
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√
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4 √
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lim
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1
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1
4 √
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∈
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con
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s.

f
(x
)
= {

x
2
+
2
x
,

if
x≥

1;
−
x
+

c,
if
x
<

1
.

g
(x
)
= ⎧⎨⎩
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= ⎧⎨⎩
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;
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=
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=
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=
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=
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=
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√
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d
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)
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x
2
+
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x
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3)
ln (

x
+
1

x−
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4)
sin

(2x
2
+

cos(x
))

5)
a
rcsin

(x
2
+
x
)

6)
a
rcta

n
(x

2
+
x
)

7
)

3 √
x
2
+

x
8)

a
(
x−

1
x
+
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a∈
R
∗+

9)
e
e
x
2
+
1
/
x

10)
log

a (a
rcsin
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a∈
R
∗+
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th
e
ap

p
lication

of
m
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valu
e
th
eorem

’s
to

th
e
fu
n
ction

f
(x
)
=

α
x
2
+
β
x
+
γ
,

α
,
β
,
γ∈

R
∗

o
n
th
e
in
terval

[a
;b]

sp
ecify

th
e
n
u
m
b
er

c∈
]a
;b[.

G
ive

a
geo

m
etric

in
terp

reta
tio

n
.

2.
L
et

x
an

d
y
tw

o
reals

w
ith

0
<

x
<

y
,
sh
ow

th
at

x
<

y−
x

ln
(y
)−

ln
(x
)
<

y
.

E
x
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L
et

f
an

d
g→

[a
;b]

b
e
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o
co
n
tin

u
o
u
s
fu
n
ctio

n
s
on
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;b]

(a
<

b)
an

d
d
iff
eren

tiab
le

on
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W
e
su
p
p
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at

g ′(x
)�=
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for
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;b[.

1.
S
h
ow
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g
(x
)�=

g
(a
),
fo
r
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x∈
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;b[.

3

2.
L
et

u
s
set

α
=

f
(b)−

f
(a
)

g
(b)−

g
(a
)
a
n
d
con

sid
er

th
e
fu
n
ction

h
(x
)
=

f
(x
)−

α
g
(x
)
fo
r
x
∈

[a
;b].

S
h
ow

th
a
t
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satisfi
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e
h
y
p
o
th
eses

of
R
o
lle’s
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an
d
d
ed
u
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a
t
th
ere

ex
ists

a
real

n
u
m
b
er

c∈
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;b[

su
ch

th
a
t

f
(b)−

f
(a
)

g
(b)−

g
(a
)
=

f ′(c)
g ′(c)

.

3
.
W
e
a
ssu

m
e
th
a
t
lim
x→

b

f ′(x
)

g ′(x
)
=

l,
w
h
ere

l
is

a
fi
n
ite

real
n
u
m
b
er.

S
h
ow

th
at

lim
x→

b−
f
(x
)−

f
(b)

g
(x
)−

g
(b)

=
l.

4.
A
p
p
lication

.
C
alcu

la
te

th
e
fo
llow

in
g
lim

it:

lim
x→

1 −

a
rccos(x

)
√
1−

x
2
.

E
x
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U
sin

g
th
e
d
eriva

tive
n
otio

n
s,

d
eterm

in
e
th
e
follow

in
g
lim

its:

1
)

lim
x→

0

e
3
x−

2−
e
2

x
2
)

lim
x→

1

ln
(2−

x
)

x−
1

3
)

lim
x→

π

sin
(x

)
x
2−

π
2

4
)

lim
x→

π2

e
c
o
s
(x

)

x−
π2

5
)

lim
x→

0

ln
(1−

sin
(x

))
x

6
)

lim
x→

+∞
(ln

(x
+
1)−

ln
(x
))
.

E
x
e
rc
ise

1
4

G
iv
e
th
e
d
om

a
in

o
f
d
iff
eren

tiab
ility

o
f
th
e
fo
llow

in
g
fu
n
ctio

n
s
th
en

ca
lcu

la
te

th
e
n
th
-ord

er
d
erivative,

b
y
ju
stify

in
g
its

ex
isten

ce.

f
(x
)
=

2x
k,

k∈
N
∗,

f
(x
)
=

1/
x
,

f
(x
)
=

1/x
2,

f
(x
)
=

sin
(2x

),
f
(x
)
=

sin
(x
)cos(x

),

f
(x
)
=

1

1−
x
2
,

f
(x
)
=

x
2e

x.
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